

Welcome To

Grow You

Invest With Small Money And Grow Your Life

Wesbite:-www.growyou.in

## **ABOUTUS**

A Genuine Platform For Investment Opportunities From Real Estate, Stocks, Fixed Deposits, Forex Trading, Online Grocery, And Fund Rising Campaigns The Dollar Trade Is Allow Everyone To Become Partner And Make Unlimited Income. All Commissions Are Distributed Real Time And Instantly Without Involving Any Third Party Here. It's An Open-ended Software Algorithm, Which Performs The Function Of Distribution To Affiliate Commissions Between Community Partners And The Observer Of Certain Conditions.



Follow us on :-



#### COMPANY PROFILE

• We Are Committed To Honor, Encourage And Support Individuals And Teams Who Contribute, Through Their Behavior And Actions, To The Success Of The Organization I.E. We Are One Of The Most Successful Company In India. Grow You Is A Community Of People Who Help Eachother. It Is Your Partner To Increase Your Success And Reduce Chances Of Failure & Gives You A Proper Success Formula, Which Helps Millions Of Participants.

• We Provide Exceptional Financial Services To A Wide Range Of Commercial And Residential Properties Over Many Years, Including Large Corporate Environments. We Believe In Success, A Process To Make Progress Continuously...





#### WHY CHOOSE US

- **Unique Concept.**
- **Open Your Account.**
- Your Data is Secure.
- **Fast Transaction.**
- Safe And Secure 100% Risk Free
- **Instant Payment Without Delay**
- Lifetime Earning Opportunity
- 24/7 Hours support system







# Joining Package

No Work Invest And Sit Relax





# Types Of Income

Single Leg Income

**Level Income** 

**Swage Performance** 

**Royalty Income** 





# SINGLE LEG INCOME

S.No.	Member	Direct Member	Income	Time	Total Income
01.	Next 50 PS	01	₹50 Per Day	60 Day's	₹3000/-
02.	Next 300 PS	02	₹50 Per Day	60 Day's	₹3000/-
03.	Next 600 PS	03	₹100 Per Day	60 Day's	₹6000/-
04.	Next 1200 PS	04	₹200 Per Day	60 Day's	₹12,000/-
05.	Next 2400 PS	05	₹400 Per Day	60 Day's	₹24,000/-
06.	Next 5000 PS	05	₹800 Per Day	60 Day's	₹48,000/-
07.	Next 10,000 PS	05	₹1600 Per Day	60 Day's	₹96,000/-
08.	Next 24,000 PS	05	₹3200 Per Day	60 Day's	₹1,92,000/-
09.	Next 48,000 PS	03	₹6400 Per Day	60 Day's	₹3,84,000/-
10.	Next 1 Lakh PS	03	₹12,800 Per Day	60 Day's	₹7,68,000/-



# LEVELINCOME

Level	Income	Total Income
1st Level – 36	₹50 Each	₹1800/-
2nd Level – 1296	₹25 Each	₹32,400/-
3rd Level – 46,656	₹15 Each	₹6,99,840/-
4th Level – 16,79,616	₹10 Each	₹1,67,96,160/-
5th Level – 6,04,66,176	₹5 Each	₹30,23,30,880/-









# SWAGE PERFORMANCE

Board Of Hero:- If Any Person Complete The 1" Level Within 21st Day Of Joining, Then Benefit Of Total Company's 5% Distributing In Complete Member.

Level	Get Reward		
1st Level	Smart watch		
2nd Level	Laptop		
3rd Level	Tata Punch + GOA Tour 2 Person 4 Day		
4th Level	Audi Car + Thailand Tour 2 Person 5 Day		
5th Level	Bungalow Your City + Europe Tour 2 Person 10 Day		



# ROYALTY INCOME



Complete Single Leg Total Income Then Company Benefit 5% Distribute With Member After 10th Year.





# NOTICE

- ✓ Every Day Open Site Then Earn Money Collect In **Your Valet.**
- ✓ Single Leg Is Started When Your Direct Sponsor Is Complete Those Are Level Required.
- ✓ Saturday And Sunday Are Close For Single Leg Income But Joining And Other Income System Are Work Properly, Because Stock Market Is Not Work In This Day.



Follow us on :-



